Alg 4-5-19.notebook April 08, 2020

Perfect square- Completing the square steps: ~ 2x°-4x - 16=0
a quadratic formed by FOILing out an expression of L. make_ sure "a" is 1 (if not, . = - b =
the form (x + c)?, where c is a constant. then divide whole equation by~ ¥ - - 8=
the coefficient to get 1)
Example: (x +9)> =x>+ 18x + 81 2. move the constant term to the  y»_q,_ 8. o
right hand side of the equation such . »2 8
Example 1: Find the value of ¢ that makes x* + 14x that you will get x> + bx = ¢ X'-2x - Z .
+ ¢ a perfect square. c= "'1 3. complete the square by dividing W i
b by 2, square your answer, and add 2 ,, 4 .¢ Wz
To find- divide the coefficient of the linear (x) term it to BOTH sides of the equation q
by two and then square the number 2+ T-s 41 4. Factor the left hand side of the ~ LX~13*
equation (should be a perfect square) o™ -
5. Take the square root and solve <:-\D|-_+{j A
the equation al = 12

Example 2: Solve x* - 6x - 40 = 0 using completing Example 3: Solve by completing the square
the square. *Ho ) x>+ 2x+6=0.
. b -6
Btep 1 -ais 1, sodone. vé“,_l o Step1-ais1l,sodone. , b R
Ptep 2 - move ¢ X 4a -o_ Step 2 - move ¢ X *2 @
Step 3 - complete square- Z:z.)"- 3 Step 3 - complete square- sl
te:ilile ‘;)/thliin §(c11uare W&oox <Az ua - take b/2 then square e 155
a 0 both si1des - : L Iyt ==
. JRTT) add to both sides X -
Step 4 - factor left hand Slde@ ;g +3 Step 4 - factor left hand side m BN
Step 5 - Square root and solve *% x= A% Step 5 - Square root and solve X +1= 143
[foots N=10ond W] Can't take the V of a negative, so no real roots
Example 4: Solve -2x* + 10x + 14 = 0 by completing Example 5: Solve using completing the square.
—_————  —
the square. -Z 2 x*-8x+11=0
1" =
o — . . . 1- 5’ 20 _ . —g
Step 1 - since a = -2, divide everzlthlng.x NHA Step 1 - ais 1, so done. *,__\%*: -1 %=1
Step 2 - move ¢ -y -5 - Step 2 - move ¢ W N
wn =-as (C)y
Step 3 - complete square- (} tg_ Step 3 - complete square-
take b/2 then SQUATE gl ace [agg 2 'EL.‘; take b/2 then square s
add to both sides add to both sides  x -3x*\e=
Step 4 - factor left hand side(x—2.5) ={I3.7 Step 4 - factor left hand side JCX - :IP
Step 5 - Square root and solve x=2.5 = 23 Step 5 - Square root and solve ’(:'.]"’- 345 m
+2S a2S ﬂ
I Xz bl =1\
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